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>> g=tf(1,[1 2 2 0]);

>> rlocus(g)
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>> g=tf([1 11.[1 2 2 0]);
>> rlocus(g)
>> axis([-3 3 -3 3])
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Ol OIS 2 AES MATLABE OI&0tH TSt

>> g=tf([1 2 2],[1 2 0 O]);
>> rlocus(g)
>> axis([-3 3 -3 3])
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>> g=tf([1 2].[1 0 0 0]);
>> rlocus(g)
>> axis([-3 3 -3 3])
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g=tf([1 2],[1 O O 01);
>> K=0:0.01:1000;

>> rlocus(g,K)

>> axis([-3 3 -3 3])
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>> rlocus(g, "b-",K)
>> axis([-3 3 -3 3])
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Root Locus
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>> K=3:0.1:5;

>> g=tf([1 2],[1 0 0 0]);
>> [r,K]=rlocus(g,K);

>> [K'r(1,) r(2,)) r(3,:)1]

ans =
3.0000 -1.8105
3.1000 -1.8320
3.2000 -1.8527
3.3000 -1.8729
3.4000 -1.8925
3.5000 -1.9116
3.6000 -1.9301
3.7000 -1.9482
3.8000 -1.9659
3.9000 -1.9831
4.0000 -2.0000
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-0.0947 - 1.2837i
-0.0840 - 1.2981i
-0.0736 - 1.3122i
-0.0635 - 1.3259i
-0.0537 - 1.3393i
-0.0442 - 1.3524i
-0.0349 - 1.3653i
-0.0259 - 1.3779i
-0.0171 - 1.3902i
-0.0084 - 1.4023i

0.0000 - 1.4142i

. 0|A

-0.0947 + 1.2837i
-0.0840 + 1.2981i
-0.0736 + 1.3122i
-0.0635 + 1.3259i
-0.0537 + 1.3393i
-0.0442 + 1.3524i
-0.0349 + 1.3653i
-0.0259 + 1.3779i
-0.0171 + 1.3902i
-0.0084 + 1.4023i
0.0000 + 1.4142i

SISHA MATLAB Ol Al K=3



4.1000 -2.0165 0.0082 - 1.4259i 0.0082 + 1.4259i
4.2000 -2.0326 0.0163 - 1.4374i 0.0163 + 1.4374i
4.3000 -2.0484 0.0242 - 1.4487i 0.0242 + 1.4487i
4.4000 -2.0639 0.0320 - 1.4597i 0.0320 + 1.4597i
4.5000 -2.0791 0.0395 - 1.4707i 0.0395 + 1.4707i
4.6000 -2.0940 0.0470 - 1.4814i 0.0470 + 1.4814i
4.7000 -2.1086 0.0543 - 1.4920i 0.0543 + 1.4920i
4.8000 -2.1229 0.0615 - 1.5024i 0.0615 + 1.5024i
4.9000 -2.1370 0.0685 - 1.5127i 0.0685 + 1.5127i
5.0000 -2.1509 0.0755 - 1.5228i 0.0755 + 1.5228i
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>> g=tf(1,[1 2 2 0]);

>> sisotool (g)
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>> g=tf([1],conv([1 2 0],[1 2 5]))

Transfer function:
1

s"+4s"3+9s"2+10s

>>K=3:0.1:7;
>> [r,K]=rlocus(g,K);
>>[K'r(1,:) r(2,:) r(3,:)' r(4,:)]

ans =
3.0000 -1.0000 - 1.8174i
3.1000 -1.0000 - 1.8096i
3.2000 -1.0000 - 1.8018i
3.3000 -1.0000 - 1.7938i
3.4000 -1.0000 - 1.7856i
3.5000 -1.0000 - 1.7772i
3.6000 -1.0000 - 1.7686i
3.7000 -1.0000 - 1.7598i
3.8000 -1.0000 - 1.7508i
3.9000 -1.0000 - 1.7415i
4.0000 -1.0000 - 1.7321i
4.1000 -1.0000 - 1.7223i
4.2000 -1.0000 - 1.7122i
4.3000 -1.0000 - 1.7019i
4.4000 -1.0000 - 1.6912i
4.5000 -1.0000 - 1.6801i
4.6000 -1.0000 - 1.6687i
4.7000 -1.0000 - 1.6568i
4.8000 -1.0000 - 1.6444i
4.9000 -1.0000 - 1.6315i
5.0000 -1.0000 - 1.6180i
5.1000 -1.0000 - 1.6039i
5.2000 -1.0000 - 1.5889i
5.3000 -1.0000 - 1.5731i
5.4000 -1.0000 - 1.5563i
5.5000 -1.0000 - 1.5382i
5.6000 -1.0000 - 1.5186i
5.7000 -1.0000 - 1.4972i
5.8000 -1.0000 - 1.4734i
5.9000 -1.0000 - 1.4462i

6.0000 -1.0000 - 1.4142i
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-1.0000 + 1.8174i
-1.0000 + 1.8096i
-1.0000 + 1.8018i
-1.0000 + 1.7938i
-1.0000 + 1.7856i
-1.0000 + 1.7772i
-1.0000 + 1.7686i
-1.0000 + 1.7598i
-1.0000 + 1.7508i
-1.0000 + 1.7415i
-1.0000 + 1.7321i
-1.0000 + 1.7223i
-1.0000 + 1.7122i
-1.0000 + 1.7019i
-1.0000 + 1.6912i
-1.0000 + 1.6801i
-1.0000 + 1.6687i
-1.0000 + 1.6568i
-1.0000 + 1.6444i
-1.0000 + 1.6315i
-1.0000 + 1.6180i
-1.0000 + 1.6039i
-1.0000 + 1.58809i
-1.0000 + 1.5731i
-1.0000 + 1.5563i
-1.0000 + 1.5382i
-1.0000 + 1.5186i
-1.0000 + 1.4972i
-1.0000 + 1.4734i
-1.0000 + 1.4462i
-1.0000 + 1.4142i

-1.5503
-1.5242
-1.4964
-1.4664
-1.4338
-1.3979
-1.3576
-1.3112
-1.2554
-1.1816
-1.0000 + 0.0000i
-1.0000 + 0.1836i
-1.0000 + 0.2612i
-1.0000 + 0.3218i
-1.0000 + 0.3740i
-1.0000 + 0.4209i
-1.0000 + 0.4642i
-1.0000 + 0.5050i
-1.0000 + 0.5439i
-1.0000 + 0.5815i
-1.0000 + 0.6180i
-1.0000 + 0.6539i
-1.0000 + 0.6894i
-1.0000 + 0.7248i
-1.0000 + 0.7603i
-1.0000 + 0.7962i
-1.0000 + 0.8329i
-1.0000 + 0.8709i
-1.0000 + 0.9106i
-1.0000 + 0.9531i
-1.0000 + 1.0000i
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-0.4497
-0.4758
-0.5036
-0.5336
-0.5662
-0.6021
-0.6424
-0.6888
-0.7446
-0.8184
-1.0000 - 0.0000i
-1.0000 - 0.1836i
-1.0000 - 0.2612i
-1.0000 - 0.3218i
-1.0000 - 0.3740i
-1.0000 - 0.4209i
-1.0000 - 0.4642i
-1.0000 - 0.5050i
-1.0000 - 0.5439i
-1.0000 - 0.5815i
-1.0000 - 0.6180i
-1.0000 - 0.6539i
-1.0000 - 0.6894i
-1.0000 - 0.7248i
-1.0000 - 0.7603i
-1.0000 - 0.7962i
-1.0000 - 0.8329i
-1.0000 - 0.8709i
-1.0000 - 0.9106i
-1.0000 - 0.9531i
-1.0000 - 1.0000i



6.1000 -1.0000 - 1.3738i

6.2000 -1.0000 - 1.3129i
6.3000 -1.0910 - 1.2281i
6.4000 -1.1568 - 1.2347i
6.5000 -1.2014 - 1.2412i
6.6000 -1.2371 - 1.2475i
6.7000 -1.2676 - 1.2536i
6.8000 -1.2944 - 1.2596i
6.9000 -1.3185 - 1.2655i
7.0000 -1.3406 - 1.2712i
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-1.0000 + 1.3738i
-1.0000 + 1.3129i
-1.0910 + 1.2281i
-1.1568 + 1.2347i
-1.2014 + 1.2412i
-1.2371 + 1.2475i
-1.2676 + 1.2536i
-1.2944 + 1.2596i
-1.3185 + 1.2655i
-1.3406 + 1.2712i

LHE row vectorl 0l - 258 E°IC.

>> g=tf(-[1].[1 2 2 O])

Transfer function:

sN3 +2s™M2 + 2 s

>> rlocus(g)

-1.0000 + 1.0548i
-1.0000 + 1.1298i
-0.9090 + 1.2281i
-0.8432 + 1.2347i
-0.7986 + 1.2412i
-0.7629 + 1.2475i
-0.7324 + 1.2536i
-0.7056 + 1.2596i
-0.6815 + 1.2655i
-0.6594 + 1.2712i
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-1.0000 - 1.0548i
-1.0000 - 1.1298i
-0.9090 - 1.2281i
-0.8432 - 1.2347i
-0.7986 - 1.2412i
-0.7629 - 1.2475i
-0.7324 - 1.2536i
-0.7056 - 1.2596i
-0.6815 - 1.2655i
-0.6594 - 1.2712i
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